Imgortant Questions Class 8 Sanskrit Chapter 10

S

uy 1 : fHareRitaw f&h ?ﬁfﬁ?(What increases for someone who is inclined towards
greetings?)

3TN : &FPE[ﬁ?JIT T, dcH | (Longevity, knowledge, fame, strength.)

Ud2: H"T%F-l I 9 99 ﬁq?ﬁ: RAAT?(At what time is it not possible for him to
achieve liberation?)

I ; TR
uy 3 : fhrafcaerd aal: fid 7 9da1?(Who is always pleased by them?)
IR : A |

Y 4 : {6 qurE= ﬁ@lﬁ Tdd T&U1?(What is the characteristic of happiness and sorrow
in summary?)

I : gEg-AL: |

Y 5 : B W YRS RIE: $H Fdd:? (Whose inner self is satisfied by
performing actions?)

SR Y|

Uy 6:fh ﬁv_gtw JUITH CLRIGRL Y, (Is it possible to alleviate the suffering of those
parents for hundreds of years?)

3N : qawﬁr@ﬁ: RIAT| (It is not possible to alleviate it.)





